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vercie 3.9
The pasy of  disoule  nandom  wwaBles (X,Y) bas
(/'omf mass funition
oY g i=j= 0./,2

PX=3, =)= {

0 otherwise. fve  some velue
o

* Show that O sobishes the quotion .
Ot 49+ 309°+ 28" %= L
fy dehpition. 3L lhe jont mass  Suachon o debined. 4y
Pry (“’(732 P (fwedl: Xw)- 2 and YIO) =Yy})
¥ /:bj)= P (X-a, Y=(7) , pror RE— [0,1]
then o izz0 42 wr have:

P(x-0 Y=0)= ¥
P(x=0, Y-1)= B2
P (X=0 Y=4a)= g:
P (X=1] Y=0)= :
P Ix=1 Y=1)= 0"
P (X=1, Y=o)= O’
P (X=d, Y-0)= O
P (x=4 Y=1=70"
PilX=2 | Y=0)= O

2 2 PY:‘{UﬂJ)= o+ O 93+ U+ O v Pl Y+ pT-=

= O+ 40 39°4+ JBY+ V5= L,

b the  manginal  mass  funchon  of X o " touns of U
? definihon,  the mafcjthcuf’/ mass  Hnckon of  x i

dbined as POz Z poy (my) = PlX=2, Y=0)+ P(X=2, Y=1)
+PX=2,Y-2)= o+ 19?42» "= 0 (1404 DY) = pela)
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